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Annual Examination, 2016
B. Com. lll
MANAGEMENT ACCOUNTING (COMMERCE)
Paper ITI
[ Management Accounting |
TIME —3 Hours )
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NOTE : Attempt five questions in all. One question from
each unit is compulsory. All questions carry

equal marks.
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Define Management Accounting. How does it
differ from financial and cost accounting ? Discuss

the utility of Management Accountancy in Business
Management.
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Some data of financial accounts of a company are
as follow :

Rs.
Annual sales 200,000
% of Gross profit on sales 16%
Average stock 14000
Current liabilities 16,000
Current ratio 250%
Closing stock 12,000
Receivable at the end 24,000

From the above information, calculate the
following ratios :
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(a) Stock Turnover,
(b) Receivable Turnover,
(¢) Acid Test Ratio,

(d) Current Assets Ratio,

(e) Average collection period in months,
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What is a funds flow statement ? What are its main

objectives ? Explain the procedure of preparation of
funds flow statement,
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Liabilities 1-4-2014 'js:-s-zms; Assels | 1-4-2014 | 31:3-2015
Rs. ! Rs. | t Rs. Rs.
Creditors | 40000| 47,000 | Cash 100000 5000
l»anfnom' 25,000 - Debtors 300000 520000
Sumit

Stock 350,000(  2,50,000

|
Loan from 40,000 50,000 | Machinary 80,000 i 55000
Central

Land 40,000 ! 50,000
Bank '

Capital 125000 150000 | Building 35.000! 60,000
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The Balance Sheey of Mr. Moulik

and 31-3-2015 were g follow o200
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Capital [ 125 ‘
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The provision for depreciation against
machinary as on 1-4-2014 and 31-3-2015 were
Rs. 25,000 and Rs. 40,000 respectively,

3. Net profit for the year amounted to Rs. 45,000,

Prepare Cash Flow Statement according to Revised
Accounting Standard-3.
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What do you understand by marginal costing ?

State its usefulness as a tool for corporate
decisions. Bring out some limitations of marginal

costing.
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From the following data calculate :

(a) P/V Ratio,
(b) Profit when sales are Rs. 20,000,

(¢) New break-cven point when selling price is
reduced by 20%,

(d) Sales in Rs. to ean a profit of Rs, 4,000 after
reducing selling price by 20%.

Fixed expenses Rs. 4,000

Rs. 10,000
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Write a detailed note on “Budget as a tool of
planning.”
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The expenses budgeted for a production of 10,000
units in a factory are furnished below

' Per unit

| Rs.
Materials— i ‘ ] —70—
Variable overhead 20
Fixed overhead (Rs, 1.00,000) 10
Variable ¢xpenses (Direct) 5
Labour 25
Selling expenses (10% Fixed) 13
Administrative Exp. (Rs, 50.000) | 5
Distribution Expenses (20%) Fixed 7

’ 155

Prepare a budget for the production of 8,000 units
and 6,000 units. Assume that administrative
¢expenses are rigid for all levels of productions.
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Explain the following illustratively :

(i) Labour cost variance,
(ii) Overhead cost variance.
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Standard mix for production of X :
‘A’ 60 tons @ Rs. 5 per ton

‘B’ 70 tons @ Rs. 10 perton
Actual mixture being :

‘A’ 80 tons @ Rs. 4 per ton

‘B’ 70 tons @ Rs. 8 per ton

Reconcile actual material cost with standard
material cost.
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